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SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
405 XH&HF S I 220,000 330,000 A 110,000
01 AL =S EF SHI 220,000 330,000 A 110,000
OZ23Z0tE 0 HI) 180,000
OJ®Ezs03 40,000
BFHRSUIASHAI=HR 374,447 318,072 56,375
101 @121l 112,447 92,072 20,375
04 JI2ZtH22XNHEE 112,447 92,072 20,375
Os++x3TZLHOUFY 40,8303 x5 *150 30,623
OgdsZ A2 40,8303 x6H x 150 36,747
OASHSAEZEOFA 40,8303 6H *150 36,747
Os5U At 2 8,330
201 L2 A Y| 64,000 59,000 5,000
01 At 22l Yl 4,000 4,000 0
Jget&| 4,000
OsXNMHIIZM2 =2 2,000
OMBESLEEAsrE 2,000
02 =294l 60,000 55,000 5,000
O ZHl 32,000
OsJIAH2#AZ 8,000
OgXM=EsxET24d=HI 24,000
O A& & Bl X8I 28,000
OBIRAAE S K22 10,000
OA&AL =) REHI KX 18,000
202 O B 10,500 10,500 0
01 =LHO bl 10,500 10,500 0
EHESUIAZINEFE O HI 10,500
207 AR Y| 87,500 81,500 6,000
03 A& b 87,500 81,500 6,000
O ZOFMMAMAIENEZ 250,000 x505 *23| 25,000
OXFAESHIZHE 250,000& 355 *23] 17,500
O=ss+x28d92ls 250,000& *205E *23] 10,000
OANsdEssdd2NME 250,000& 205 *23] 10,000
OgXsZ 4 A 250,000& *10&*103/ 25,000
405 XtabE S| 100,000 75,000 25,000
01 AL =S EF SHI 100,000 75,000 25,000
CDNAXI S =& &I (14]) 100,000
B ES TP 3,375,232 3,079,037 296,195
= 57,411
= 1,920,000
= 1,397,821
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

NEARI| B A 1,000,000 944,000 56,000
2 500,000
== 500,000

405 Ko SHI 1,000,000 720,000 280,000
2 500,000
= 500,000

01 JHAHE =2 Z F S H 1,000,000 720,000 280,000
G E XS M&AAEH 220,000
= 110,000
= 110,000
OZYH=EZY 2L 160,000
z 80,000
== 80,000
OAMNZSSEMFEAIAE 140,000
2 70,000
o= 70,000
OsgstdHIIE2 A A 2 140,000
2 70,000
== 70,000
OsAERERHESAANALH 340,000
2 170,000
o= 170,000

NGNS AMSASH AN 1,420,000 1,295,000 125,000
2 1,420,000

201 Bt A | 13,000 10,000 3,000
2 13,000

01 At 22l ] 13,000 10,000 3,000
28t~ Z2H| 13,000
OS3st& AEHECANENES 13,000
2 13,000

202 044 26,000 19,000 7,000
2 26,000

01 2L Y| 16,000 13,000 3,000
OSs3&=2 16,000
Py 16,000

04 =Ml st Bl 10,000 6,000 4,000
OatsteE = 10,000
2 10,000

301 et A= 5,000 4,500 500
2 5,000

10 #HALAIHI 2 5,000 4,500 500
OS3 &2 5,000
) 5,000

307 21240 & 1,376,000 1,261,500 114,500
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2A: sg€llsd HSHAM
e
Chelr HRIISHL XA (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
207 Ao H| 200,000 200,000 0
03 A& & 24l 200,000 200,000 0
OXNGSsA=IsEH RS 200,000
301 L2 AZ 6,000 6,000 0
10 #AIAHIE A Z 3,000 3,000 0
OXNASHNSBEAPE IS A XS4 3,000
12 JIEBHE4 S 3,000 3,000 0
OATZAMUARE 4 3,000
Hel=ISSHIALANEE2I 190,000 140,000 50,000
202 oddl 40,000 40,000 0
03 22A S R0 bl 40,000 40,000 0
OoldSsEALM=#S 40,000
301 L2 Az 20,000 10,000 10,000
08 2BI=& Kbl 20,000 10,000 10,000
Osd23MUF =0 20,000
310 =201 ™ 130,000 90,000 40,000
01 2AZH0H 20,000 0 20,000
O=HMSsHI2SSEIIFIXE 20,000
02 ZHRE= 110,000 90,000 20,000
DE22dddsssgdEsd? 90,000
OHEESHASEI=ZSHF 20,000
HH2IHU (sgI)l=d HSHI2) 911,729 811,103 100,626
ol 2 gl 875,179 774,153 101,026
ol 2AH| 875,179 774,153 101,026
101 @124 Hl 875,179 774,153 101,026
03 RIAHAZZ2 T E =+ 875,179 774,153 101,026
OsJA2EdS 22,379
OJdles 54,4103 18 «252 13,712
O=s=¢ 54,4103 1«52 2,830
OAR=< 54,4103 121 1,143
Oxgz2f=+¥ 54,4103 1. 5x1H »20 1,633
OAlzte 224
54,4103 1/8%1 5% 1H *25A| 2+ x 122 3,061
OsJlHZeld 24,048
OJles 58,4703 18 x252 14,735
OxFs=+¥ 58,4703 1 52 3,041
OAR=< 58,4703 1 21 1,228
Oxgzfs¢ 58,470 *1.5x1H 20 1,755
OAlzteZ22+¢
58,4702 x1/8%1.5x1H x25A| 2k + 122 3,289
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SN s20lsY HBAUDD
HM: HYM2HAH (=YD= 2SH7)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
[JANEBEXIES 538,979
(OPIR==] 40,8303 x34H x252 349,832
OxFs2¢ 40,830 34 H x52 72,188
Od Xt 40,8303 *34H x 16 22,212
Ose22Y 40,830 *1.5%x34H 8 16,659
ONZL2R2Y
40,8302 x1/8%1.5%34H x25A| 2t % 12& 78,088
Oad=2 378,279,000 x1/12%400% 126,093
o= sl 5,400
O=& 0] 15,000
OJE 18,000
[@):[iE==PN; 40,0003 x20H x12& 9,600
OJIEIIE 20,000& *35H x12& 8,400
OnsE 8=yl 60,000& *36H x12& 25,920
OYEFOtY] 600,000 *36H *23| 43,200
OFHZ A 130,000 »36H x12& 56,160
Jl2&Hl 36,550 36,950 AN 400
Jl2&H| 36,550 36,950 AN 400
201 et | 5,000 5,000 0]
02 3294l 5,000 5,000 0
A& &H|l R A4 5,000
OIN=PIPIESESPNE:] 5,000
203 ¥R =&H| 12,300 15,600 A 3,300
01 J|2A2HLR=XH| 3,300 6,600 A 3,300
O=% 3,300
04 ENSIHRF=EY| 9,000 9,000 0
O] &N 9,000
O15H 0| at 9,000
405 XH&HF SHI 19,250 16,350 2,900
01 XAt 225 S| 19,250 16,350 2,900
opc(adt) 4,350
OMASI|I(1DH) 5,000
OAEt(2x) 8,000
COOMEDI(1T) 900
OHED1(1th) 1,000




